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[Time: 3 Hours] o A {TutalMﬂrksq‘sﬂl
Note: 1) Question ONE is compulsory 2
2) Solve any THREE out of remaining questions

3) Draw neat and clean diagrams, whereve;ﬁ._ﬁggé%sﬁ .. .. g

4) Assume suitable data, if required

1 (a) Analyze following circuit to get vnltqgc gam aquatmn 1f M2 is twice wide as that 5
of M1l and Vinl=Vin2

(b) Explain 1mpurtan¢e of Mlller Theorem: 9 ) .
(c) Explain input mtpm Charﬂcterj,stlcs o "._ .-T?..;;-_:_'f' Yo .
i feedd mal.amwsdw i i S S 5

10

2 (a) Derive expfesamn ﬁmvﬁ"' S0
follower stag¢ :

(b) E)'[plaln in detml ha\t&m temp_grétﬁre independent references. 10

- {a) Explam quahtat ’ ysis a’f-diffaﬁnt'ia]"bair 10
(b} E

niceptig: sm’a:hed capac;tﬂnmrcmts and hence explain switched 10
itor amplifiers in detall

ymmn 11-1&1&4;[e ieﬁpnﬁée of differential pair with necessary derivations 10

(b)) Fip, 4 Vhite & Flicker-noise in MOSFET. Derive equation for output and input 10
. { Teferred Ilﬂlse '-:fﬂltagc of CS stage

TURN OVER
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5 Design two stage Operational Transconductance Amplifier {6’}'1‘91; iu‘mégﬁf
following specifications-.

Av>4000 V/V , Vpp =2.5V, Vss=-2.5V GBW — m Qﬁ’iﬁpﬁ
SR> 10V/ps, 60° phase margin, -2V< Vi rangecdVe < - 5077 <
[CMR = -1.125V t0 2V, Paiss <2.5mW “'j_.;-r‘ &

\

Use, K=l 104A/V2, Ke= SOMAIV2, Vi = V] = *B“‘?.é{

b = 0,05V, Cox=2 47fF/unt. Verify that the Qésiggm e
Voltage Gain and Power Dissipation spe I

6 (a) Give comparison between Ful]~custg:§:3%§df_': ﬂf-\ﬁuﬁgﬁh Si
(b)  Compare various opamp topulagtegif.* « ': % K : ?
(c) Explain in detail charge pum@PLL o
(d) Write a short note on Gﬂhﬁceﬁ ' .

i ¥ y
e .,.
- o
: e M T
L - i L
A » - 2 L]
L = O, e S
L X i
s - t
S A o K
S ki

F 9CO38EE614896FSB49BAFEDS 184CE42 ]



